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3 fir AR 6 45 42 87 13.2 73.8 N1
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5z LT i 51 53 104 28.8 7522 N1

6 fir H: 55 51 45 96 20.4 75.6
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8 iz e o= 46 48 94 18.0 76.0

9 fiz BH A 47 46 93 16.8 76.2
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11 fi7 TH7K 75 HB 44 39 83 6.0 77.0

12 fiz BK H— 54 50 104 26.4 77.6

13 fir A 13 50 43 93 14.4 78.6

14 {7 i) b SR 47 45 92 132 78.8

15 iz JAH: F ] 55 49 104 252 78.8 RE

16 fiz SN RVSS 50 45 95 156 79.4

17 fif BA K 51 52 103 22.8 80.2

18 fiz Tl 58 56 61 117 36.4 80.6

19 iz P =, 53 49 102 20.4 81.6

20 fir Hify R— 54 56 110 27.6 82.4 RE

21 fif I B 54 47 101 18.0 83.0

22 r e FH (55 59 61 120 36.4 83.6

23 fir e HET 63 61 124 404 83.6

24 fir LI &Ik 58 56 114 30.0 84.0 BBH

25 Hr H B BT 67 59 126 40 4 85.6 BME




